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1. B EXREEE INEF(USKIL) 3,000 3,000 0 BEL—FRUBAMESEERALTTE,
INET (BRHEE 5,145,000 4925 000 220,000 BEL—FRUAAMBLETRALTTS,
MNEt (BAH) 200,000 199,000 1,000
(WEESEEE USK )L 3,000 3,000 0
Hia g 1,510,000 1,300,000 210,000
(O ERMBALRS HiEE 1,500,000 1,300,000 200,000 | 1 [smsmE
(D)= avTEREE HihEE 10,000 0 10,000 215tEH 20
UNEMFRIREE USKJL 3,000 3,000 0
(a) EF R IRERE E USFK)L 2,000 2,000 0
(b) i USKJL 1,000 1,000 0 500K )L x 28
Q) RMEXEEE miB e 3,623,000 3,613,000 10,000
HAH 200,000 199,000 1,000
(NEMRIYIANGE Hid g 1,815,000 1,815,000 o 2 [#stivem
(M) R ERAERE HihEE 1,380,000 1,380,000 0
(a) R EFEATE R RiEE 1,200,000 1,200,000 0 200,000 X 648
(b) M EBIEFNLEE BHihEE 180,000 180,000 0 30,000 X 64 B
(/N IEHBEHE HihEE 250,000 250,000 0
(a) EMEAE-fEH HihEE 200,000 200,000 0 15 B B x 4E
(b) ElHHE i@ &g 40,000 40,000 0 HUtEar B
(c) IR HIEE BRitE s 10,000 10,000 0 FE-EH G 26
[ESET Hid g 6,000 6,000 0 SipHEH2E
(R)BIEE HiE s 39,000 30,000 9,000
(a) B 7€ EI#RE AH BHihEE 6,000 6,000 0 1,000x 648
(b) ¥ EFEMFE AR BHihEE 9,000 9,000 0 1500 % 648
(c) BME - A & BiEE 15,000 15,000 0 ERBBEF~OBRBER 20
(d) SRITF M HiE S 9,000 0 9,000 BAEEBATHE 20
(NBEERMERE HihEE 21,000 20,000 1,000
(a) ERMERLE HihEE 20,000 20,000 0 FIUAER
M) LHEAERFE-BAE [RihEEg 1,000 0 1,000 EAA
(MEBEALBAERSE HihEE 112,000 112,000 0
() BHERARBEAE RiEE 12,000 12,000 0 2,000 % 647 8
() BEHEEBMEEAE-BH (RihEE 100,000 100,000 0 SRYAI =R
C)EHFAREBAE-EH [BthEE 0 0 0
(F) REBRAYITIREE BHAH 200,000 199,000 1,000
(a) IRE BAH 150,000 150,000 0
(b)BH-TFHE BAM 49,000 49,000 0 7,000/ x 738
(c)ZDHiEME HAH 1,000 0 1,000 Eiaecr ]
I EHRIEE HihEE 12,000 12,000 0 FRBARC, A
(4)ZDMREXKE USK/L 0 0 0
2. RAHEXEHEE BAM 5,628,000 5,576,000 52,000
(WABEXEEE EESE] 5,628,000 5,576,000 52,000
(N ARBRE2YINEE HAH 5,490,000 5,490,000 0 HR1-b5E
(M£E HAH 40,000 0 40,000 2155426
(IN\)BIEE BHAH 42,000 36,000 6,000
(a) BEEEMEAH HAH 30,000 30,000 0 5000/ X 67
(b) ERfE - AL B HAH 6,000 6,000 0 1,000F x 64 5
(c) SRITF 88t HAH 6,000 0 6,000 BAER2ES
(D) EBXEHERE BZAM 50,000 50,000 0
(a) EHMERLE BHAMH 50,000 50,000 0
b)) EHRAGERSRE-BAE [BXH 0 0 0
(R ESERREAE HAMA 6,000 0 6,000 1,000M X 67 5
() ZDMREXNEKE BAH 0 0 0
(3)—EHE BHAH 0 0 0
3. S EpEEEE HihEE 60,000 60,000 0
HAH 300,000 300,000 0
(N REERRRE
(O EMNSTEEERERE BHEE 60,000 60,000 0
() RERSIEREEERERE HAH 300,000 300,000 0
INEH(USEKIL) 3,000 3,000 0 1USKL=94.00
BEA/NE INEH(BREE 5,205,000 4,985,000 220,000 1358 = 1.30M
NEH(EARM) 6,128,000 6,075,000 53,000
ZTOHECZES HAH 30,000 30,000 SHITAURAR
WEXE St (BAH) 13,206,500 | 12,837,500 369,000




